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What is the x-intercept? - Exercises

What is the x-intercept?

The x-intercept is where the graph intersects the x-axis. How do we find the x-
intercept? Omne way would be to graph the function and visually see and locate
where the graph intersects the x-axis. Another way is to use the quation of the
function and then let the equation equal 0 and solve for x.

y = f(z) =0, then solve for x.
Let’s consider an example. Suppose we have the following linear relation,
2c + Ty = —4

To find the x-intercept, let y = 0 and solve for the variable x.

2+ Ty = —4 let y=0
2e+7(0) = —4
20 = —4 divide both sides by 2
2z —4
2 2
v
This means the x-intercept is x = —2.


www.raisemymarks.com

Raise My

Aks

What is the x-intercept? - Exercises

Exercises

Find the x-intercept and y-intercept for the following linear relationships.

a) 3xr —y =2

b) 2y 43z =2z —1

d) —4z — 3 = 6y

e) 1+ 3z = —6y
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g)3+2xr+y=2y—4x+5
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